é % %; Q% Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
6,8 < 1000 = 6,692 x 10 =
6,661 x 10000 = 3,32 x 100000 =
8,266 x 100000 = 2, 182 x 1000000 =
9,833 x 1000 = 9,972 x 1000000 =
8,311 x 10 = 3,884 x 100 =
10, 705 x 100 = 9,706 x 10000 =
8,815 x 100 = 3,745 x 10 =
8,083 x 100 = 3,643 x 100 =
5,593 x 10000 = 4,177 x 1000 =
4,104 x 100000 = 6, 875 x 1000 =
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% ¥ @ JO Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagio:
6, 8 x 1000 = 6800 6,692 x 10 = 66.92
6,661 x 10000 = 66610 3,32 x 100000 = 332000
8,266 x 100000 = 826600 2, 182 x 1000000 = 2182000
9, 833 x 1000 = 9833 9,972 x 1000000 = 9972000
8,311 x 10 =83.11 3,884 x 100 = 388.4
10,705 x 100 = 1070.5 9, 706 x 10000 = 97060
8,815 x 100 = 881.5 3,745 x 10 = 37.45
8,083 x 100 = 808.3 3,643 x 100 = 364.3
5,593 x 10000 = 55930 4,177 x 1000 = 4177
4,104 x 100000 = 410400 6, 875 x 1000 = 6875
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